[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢
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TrigonometryExercise6 for No.9012

NO]:[.I:(2sin(6)—1:O) .2:(4[sin(9)]2—1:0)}
3=(sin(20)=0) 4=(cos(30)=1)
1 =(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
No2=| .3=(2[cos(0)]*—cos(0)=0) .4:(cos(6)—sin(6):«/5)
S =(2tan(0)sin(0)=tan(0)) .6=(4[cos(e)]3—3cos(9)=0)
N03:[.1=(2cos(e)—1=0) .2:(4[sin(6)]2—3:0)}
3=(cos(40)=0) 4=(sin(30)=1)
d=(2[cos(0)]*=3cos(0)+1=0) .2=(2[cos(0)]* +sin(8)—1=0)
Nod=| .3=(2[cos(0)] +cos(0)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[sin(6)]3—3sin(e)zo)
N05:{ 1=(25sin(8)+1=0) .2=(4[c0s(6)]2:3)}
.3=(tan(0) cos(0)=tan(H)) .4=([tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKXKXKKXKXKXKKXKXMS/1-6300106-00002XX
TrigonometryExercise6 for No.9016

Nol =[‘] =(2sin(0)—1=0) .2=(4[cos(0)]’-3= 0)}

3=(sin(40)=0) 4=(sin(30)=1)
I =(2[sin(0)] =sin(0)=1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(sin(6)—cos(6):«/5)
J=(2tan(0)sin(0) =tan(0)) .6=(4[sin(9)]3—sin(9)=0)
N03={]=(2cos(6)—1=0) .2=(4[sin(9)]2—3=0)}
3=(cos(30)=0) 4=(cos(40)=1)
I=(2[sin(0) +sin(0)—1=0) .2=(2[cos(0)]°—3sin(6)-3=0)
No4=| .3=(2[sin(0)]*+sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[sin(8)] - 3sin(0)=0)
NO5{ 1=(2sin(8)+1=0) .2:(4[cos(9)]2:1)}
3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.9018

NOI:[.I=(2COS(6)—1:O) .2:(4[cos(9)]2—1=0)}
3=(cos(20)=0) 4=(cos(30)=1)
I =(2[sin(0)] +sin(0)—1=0) .2=(2[sin(8)]" -3 cos(8)—3=0)
No2=| .3=(2[sin(0)]*+sin(0)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) sin(0)=tan(0)) .6=(4[sin(0)] —sin(0)=0)
N03:{1:(2sin(e)+1:0) .2:(4[sin(6)]2—3:0)}
3=(cos(40)=0) 4=(sin(40)=1)
I=(2[sin(0)=3sin(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
Nod=| .3=(2[cos(8)]*—cos(0)=0) .4=(sin(9)+cos(9)=«/5)
.5 =(tan(0) sin(0) =sin(0)) .6:(4[cos(e)]3—3cos(6):0)
N05:{ 1=(25sin(0)-1=0) .2:(4[sin(6)]2:1)}
3= (tan(0) cos(0)=cos(0)) .4=([tan(9)]2—3=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9036

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’ 1= 0)}

3=(sin(36)=0) 4=(cos(30)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2=| .3=(2[sin(0)]* +sin(8)=0) .4:(cos(6)—sin(6):«/5)
J=(2tan(0)sin(O) =tan(0)) 6=(4 [cos(e)]3 —3cos(0)=0)

No3=[‘] =(2sin(0)-1=0) .2=(4 [cos(e)]2_3 :0)}

3=(sin(40)=0) 4=(cos(40)=1)
d=(2[sin(0) +sin(0)—1=0) .2=(2[sin(0)]*+3 cos(0)—3=0)
No4=| .3=(2[cos(0)]*—cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[sin(0)] —sin(6)=0)
N05:[ I=(2cos(8)—1=0) .2:(4[sin(9)]2=1)}
3 =(2tan(0) cos(0)=tan(0)) .4:(3[tan(6)]2—1=0)

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXKXKXKKXKXKXKXKXKXKXKX KKK XXX XXX XXXKXKXKXKXX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6300106-00005XX
TrigonometryExercise6 for No.9037

NO]:[.I:(2sin(6)+1:0) .2=(4[cos(9)]2—1=0)}
3=(cos(40)=0) A4=(sin(20)=1)
d=(2[cos(0)]"—cos(0)—1=0) .2=(2[cos(0)]°+3sin(0)—3=0)
No2=| .3=(2[sin(0)] +sin(0)=0) .4:(cos(6)—sin(6):«/5)
S =(2tan(0)sin(0)=tan(0)) .6=(4[cos(e)]3—3cos(9)=0)
NOSZ[.1=(2COS(9)—1=0) .2:(4[sin(6)]2—1:0)}
3=(cos(30)=0) 4=(sin(30)=1)
d=(2[cos(0)]*+cos(0)—1=0) .2=(2[cos(0)]°—3sin(0)-3=0)
Nod=| .3=(2[sin(0)]* —sin(6)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) sin(0)=tan(0)) .6=(4[sin(0)]’ —sin(0)=0)
N05:{ A=(2sin(0)—1=0) .2:(4[cos(6)]2:3)}
3 =(tan(0) cos(0)=tan(0)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9138

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’-3= 0)}

3=(sin(46)=0) A4=(sin(30)=1)
d=(2[cos(0)]*+cos(0)—1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
No2 = .3:(2[cos(6)]2+cos(6):0) .4:(sin(6)+cos(6):«/5)
.S =(tan(H) sin(0) =sin(0)) .6=(4[sin(9)]3—sin(9)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[sin(6)]2—3=0)}
3=(cos(30)=0) 4=(cos(20)=1)
.]:(2[cos(8)]2+3cos(8)+1=0) .2:(2[005(6)]2+sin(6)—1:0)
Nod = 3=(2[sin(0)] - sin(0)=0) .4=(cos(6)—sin(6):«/5)
S =(tan(0) cos(0)=tan(0)) 6=(4[sin(0)] —3sin(0)=0)
N05:[ I=(2cos(8)—1=0) .2:(4[005(9)]2:1)}
3 =(2tan(0) cos(0)=tan(0)) .4:(3[tan(6)]2—1=0)
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TrigonometryExercise6 for No.9602

NO]:[.I=(2sin(6)+1=0) .2:(4[cos(9)]2—3=0)}
3=(sin(40)=0) 4=(sin(30)=1)
d=(2[cos(0)]°—cos(0)—1=0) .2=(2[cos(0)]°—3sin(0)-3=0)
No2=| .3=(2[sin(0)] -sin(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6=(4[cos(e)]3—3cos(9)=0)
N03:[.1=(2cos(e)—1=0) .2:(4[sin(6)]2—3:0)}
3=(cos(20)=0) 4=(cos(30)=1)
I=(2[sin(0)F=3sin(0)+1=0) .2=(2[cos(0)]*—sin(6)—1=0)
Nod=| .3=(2[sin(0)]*+sin(6)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) cos(0) =tan(0)) .6:(4[sin(6)]3—3sin(e):O)

No _{ A =(2sin(0)-1=0) .2:(4[sin(6)]2:1)}
- 3=(tan(0)sin(0) =tan(0)) .4=([tan(0)]’=1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9616

No]:{l =(2sin(0)-1=0) .2=(4 [Sin(e)]z_ 1 :0)}

3=(sin(40)=0) 4=(sin(30)=1)
I=(2[cos(0) +cos(0)—=1=0) .2=(2[sin(0)]* +cos(8)—1=0)
No2=| .3=(2[sin(0)]*—sin(6)=0) .4:(sin(6)—cos(6):«/5)
J=(2tan(0)sin(O) =tan(0)) .6=(4[cos(9)]3—cos(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[sin(6)]2—3=0)}
3=(cos(30)=0) 4=(cos(20)=1)
d=(2[sin(0) =3sin(0)+1=0) .2=(2[cos(0)]°—3sin(0)-3=0)
No4=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
.5=(tan(0) sin(0) = sin(0)) 6= (4[sin(0)] —3sin(0)=0)
N05:[ I=(2cos(8)—1=0) .2=(4[cos(9)]2:3)}
J=(tan(0) sin(0)=tan(0)) .4=(3 [tan(@)]z— 1=0)

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKXKXKXKXKKXKXKXKXKXKXKXKKXKXKXX XXX XX XXXKXXX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6300106-00009XX
TrigonometryExercise6 for No.10152

NO]:[.Iz(Zsin(e)—lzm .2:(4[cos(9)]2—3=0)}
3=(cos(40)=0) 4=(cos(20)=1)
.]=(2[sin(9)]2+3sin(9)+1=0) .2=(2[sin(9)]2—cos(9)—1=O)
No2=| .3=(2[cos(0)]* —cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[cos(e)]3—3cos(9)=0)
N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—1=0)}
3=(sin(40)=0) 4=(sin(20)=1)
I =(2[sin(0)] —sin(0)—1=0) .2=(2[sin(8)]* +3 cos(8)—3=0)
No4=| .3=(2[sin(0)]* +sin(0)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) sin(0) =sin(0)) .6:(4[cos(6)]3—cos(6):0)
N05:{ 1=(25sin(0) +1=0) .2:(4[sin(6)]2:1)}
.3=(tan(0) cos(0)=tan(H)) .4=([tan(9)]2—3=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.11738

J=(2sin(0)+1=0) .2=(4[cos(0)]*-3= 0)}
3=(sin(20)=0) 4=(cos(40)=1)

I=(2[sin(0)] +sin(0)=1=0) .2=(2[cos(0)]*+sin(0)—1=0)
No2 =

No]:{

3=(2 [sin(e)]z—sin(e) =0) 4= (cos(0)— sin(e):«/g)

S =(tan(0) cos(0)=tan(H)) 6=(4 [cos(e)]3 —cos(0)=0)
N03=[.]:(2cos(6)—1:0) .2:(4[cos(9)]2—1=0)}
3=(cos(20)=0) A4=(sin(40)=1)
d=(2[sin(0) =3sin(0)+1=0) .2=(2[cos(0)]°—3sin(0)-3=0)
No4=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) 6=(4[sin(8)] —sin(6)=0)
NO5{ 1=(25sin(0)-1=0) .2=(4[sin(9)]2=3)}
.3 =(tan(0) sin(0) =tan(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.11754

NO]:[.I:(2sin(6)—1:O) .2:(4[sin(9)]2—1:0)}
3=(sin(20)=0) 4=(cos(30)=1)
d=(2[cos(0)]°—cos(0)—1=0) .2=(2[cos(0)]°—3sin(0)-3=0)
No2=| .3=(2[sin(0)] -sin(0)=0) .4:(sin(6)+cos(6):«/5)
.5=(tan(0) sin(0) =tan(0)) 6= (4[sin(0)] —3sin(6)=0)
N03:{1:(2sin(e)+1:0) .2:(4[sin(6)]2—3:0)}
3=(cos(20)=0) 4=(cos(40)=1)
d=(2[cos(0)]* =3 cos(0)+1=0) .2=(2[cos(0)]*—sin(8)—1=0)
Nod = 3=(2[sin(0)]* +sin(0)=0) .4=(sin(9)—cos(9)=«/5)
J=(2tan(0)sin(0)=tan(0)) 6=(4[cos(0)]’ —cos(0)=0)
N05:[ 1=(2cos(B)—1=0) .2:(4[003(9)]2:3)}
3 =(2tan(0) cos(0)=tan(H)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.11841

No]:{l =(2cos(0)-1=0) .2=(4 [cos(e)]z_ 1 :0)}

3=(sin(20)=0) 4=(cos(40)=1)
I=(2[sin(0)]=3sin(0)+1=0) .2=(2[cos(0)]* —sin(6)—1=0)
No2 = .3:(2[sin(6)]2+sin(6):0) .4:(sin(6)—cos(6):«/5)
S =(2tan(0)sin(0)=tan(0)) .6=(4[cos(9)]3—cos(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[sin(6)]2—3=0)}
3=(sin(40)=0) 4=(cos(20)=1)
d=(2[cos(0)]"—cos(8)—1=0) .2=(2[cos(0)]*=3sin(6)—3=0)
Nod=| .3=(2[sin(0)] -sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[cos(0)]’ =3 cos(0)=0)
No5={ A=(2sin(0)-1=0) .2=(4[cos(9)]2=3)}
3= (tan(0) cos(0) =cos(0)) .4:([tan(6)]2—3:O)
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TrigonometryExercise6 for No.11842

NO]:[.I=(2sin(6)+1=O) .2=(4[cos(9)]2—1=0)}
3=(sin(30)=0) 4=(cos(40)=1)
.]=(2[sin(9)]2+3sin(9)+1=0) .2=(2[sin(9)]2—cos(9)—1=O)
No2=| .3=(2[cos(0)]* +cos(0)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) cos(0) =tan(0)) .6:(4[cos(e)]3—3cos(9)=0)
N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—3=0)}
3=(cos(30)=0) 4=(sin(40)=1)
I =(2[sin(0)] —sin(0)—1=0) .2=(2[sin(8)]* +3 cos(8)—3=0)
Nod=| .3=(2[sin(0)]*-sin(0)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) sin(0) =sin(0)) .6:(4[cos(6)]3—cos(6):0)
N05:[ 1=(25sin(8)-1=0) .2:(4[sin(6)]2:3)}
3=(2tan(0) sin(0) =tan(0)) .4=([tan(9)]2—1=0)
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TrigonometryExercise6 for No.11901

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’ 1= 0)}

3=(sin(26)=0) 4=(cos(40)=1)
I=(2[sin(0)] +sin(0)=1=0) .2=(2[sin(0)]" =3 cos(6)=3=0)
No2=| .3=(2[sin(0)]*—sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(6) cos(0)=tan(0)) .6=(4[cos(9)]3—3cos(9)=0)
N03:[.]:(2sin(6)—1:0) .2:(4[sin(9)]2—1=0)}
3=(sin(40)=0) 4=(sin(30)=1)
.1:(2[sin(8)]2—3sin(8)+1=O) .2=(2[sin(6)]2+cos(8)—1:O)
No4=| .3=(2[cos(0)]* +cos(6)=0) .4:(sin(6)—cos(6):«/5)
S5 =(2tan(0)sin(6)=tan(0)) 6=(4[cos(8)]’ —cos(8)=0)
NO5{ I=(2cos(8)—1=0) .2=(4[sin(9)]2=3)}
3= (tan(0) cos(0) =cos(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.11947

Nolz[lz(2cos(6)—1=0) .2=(4[sin(9)]2—3=0)}
3=(cos(20)=0) 4=(sin(30)=1)
.]=(2[sin(9)]2—3sin(9)+1=0) .2=(2[sin(9)]2+cos(9)—1=O)
No2=| .3=(2[sin(0)] —sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[sin(6)]3—sin(9)=0)
N03:[.I:(2sin(6)+1:0) .2:(4[sin(6)]2—1:0)}
3=(sin(40)=0) 4=(cos(30)=1)
d=(2[cos(0)]*+cos(0)—1=0) .2=(2[cos(0)]°—3sin(0)—3=0)
Nod=| .3=(2[sin(0)]" +sin(6)=0) .4=(sin(9)—cos(9)=«/5)
.5 =(tan(0) sin(0) =tan(0)) 6= (4[sin(0)] - 3sin(0)=0)
N05:[ A=(2sin(0)—1=0) 2=(4[cos(0)]*=1) }
3 =(2tan(0) cos(0)=tan(H)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.11989

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’ 1= 0)}

3=(sin(26)=0) 4=(cos(20)=1)
I =(2[sin(0)] =sin(0)=1=0) .2=(2[sin(0)]" =3 cos(6)=3=0)
No2 = .3:(2[sin(6)]2+sin(6):0) .4:(sin(6)—cos(6):«/5)
S =(2tan(0)sin(0)=tan(0)) .6=(4[sin(9)]3—sin(9)=0)
N03=[.]:(2cos(6)—1:0) .2:(4[sin(9)]2—1:0)}
3=(sin(40)=0) 4=(cos(30)=1)
.1:(2[sin(8)]2—3sin(8)+1=O) .2=(2[sin(6)]2—cos(8)—1:O)
No4=| .3=(2[cos(0)]*—cos(6)=0) .4:(sin(6)+cos(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) 6=(4[cos(8)]’ —cos(8)=0)
No5:{ A=(2sin(0)—-1=0) .2:(4[cos(6)]2:3)}
3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.11996

NO]:[.I:(2sin(6)+1:O) .2=(4[sin(6)]2—3=0)}
3=(cos(40)=0) 4=(cos(30)=1)
d=(2[cos(0)] +cos(0)—1=0) .2=(2[sin(0)]*+3 cos(8)—-3=0)
No2=| .3=(2[sin(0)] -sin(0)=0) .4:(sin(6)—cos(6):«/5)
J=(2tan(0) sin(0) =tan(0)) .6=(4[sin(0)] —sin(0)=0)
N03:{1=(2sin(e)—1=0) .2:(4[cos(6)]2—3=0)}
3=(sin(40)=0) 4=(cos(20)=1)
I =(2[sin(0) —sin(0)—1=0) .2=(2[sin(8)]* -3 cos(6)—3=0)
No4=| .3=(2[sin(0)]* +sin(0)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[cos(0)]’ =3 cos(0)=0)
N05{ 1=(2cos(8)—1=0) .2:(4[sin(9)]2:1)}
3 =(2tan(0) cos(0)=tan(H)) .4=([tan(9)]2—1=0)
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TrigonometryExercise6 for No.12889

NoJ z[.l =(2sin(0)—1=0) .2=(4[sin(0)*-3= 0)}
3=(cos(40)=0) A4=(sin(30)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2=| .3=(2[sin(0)]*+sin(6)=0) .4:(sin(6)—cos(6):«/5)
J=(2tan(0) cos(0)=tan(H)) 6=(4 [cos(e)]3 —3cos(0)=0)

No3=['1 =(2c0s(0) ~1=0) .2=(4[cos(0)]'~1= 0)}

3=(sin(40)=0) 4=(cos(20)=1)
d=(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]*+3sin(6)-3=0)
Nod=| .3=(2[cos(0)]*=cos(0)=0) .4:(sin(6)+cos(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) 6=(4[sin(8)] —sin(06)=0)
N05{ 1=(2sin(0)+1=0) .2:(4[sin(9)]2=1)}
3= (tan(0) cos(0) =cos(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.12890

NO]:[.I:(2sin(6)+1:0) .2=(4[cos(9)]2—1=0)}
3=(cos(30)=0) A4=(cos(40)=1)
1=(2[sin(8)]" =3sin(0)+1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
No2=| .3=(2[sin(0)] -sin(0)=0) .4:(sin(6)—cos(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) 6=(4[sin(8)] —sin(6)=0)
N03:{I:(2cos(6)—1:0) .2:(4[sin(6)]2—1:0)}
3=(cos(20)=0) 4=(sin(20)=1)
1=(2[sin(8)] —sin(0)—1=0) .2=(2[sin(8)]* —cos(8)—1=0)
Nod=| .3=(2[sin(0)] +sin(0)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[sin(6)]3—3sin(@)zo)
N05:{ A=(2sin(0)—1=0) .2:(4[c0s(6)]2:3)}
3 =(tan(0) cos(0)=tan(0)) .4=(3[tan(9)]2—1=0)
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TrigonometryExercise6 for No.12891

I=(2sin(0)—1=0) .2=(4[sin(0)]’-3= 0)}
3=(sin(40)=0) 4=(cos(30)=1)

I=(2[cos(0)] —cos(0)—1=0) .2=(2[cos(0)]*—sin(0)—1=0)
No2 =

No]:[

3=(2 [cos(e)]z—cos(e)zo) 4 =(sin(0) —cos(0) :«/E)

S =(tan(0)sin(0)=tan(H)) .6=(4[cos(9)]3—cos(9)=0)
N03=[.]:(2cos(6)—1:0) .2:(4[sin(9)]2—1:0)}
3=(cos(20)=0) 4=(cos(40)=1)
d=(2[cos(0) =3 cos(0)+1=0) .2=(2[sin(0)]* =3 cos(0)—3=0)
No4=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0) sin(0) =tan(0)) 6=(4[sin(0)] —3sin(0)=0)
No5={ A=(2sin(0)+1=0) .2:(4[cos(6)]2:3)}
3= (tan(0) cos(0) =cos(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.12917

d=(2cos(8)—1=0) .2=(4[sin(0)]°-3= 0)}
3=(cos(30)=0) 4=(sin(20)=1)

d=(2 [cos(@)]2+cos(9)— 1=0) .2=(2 [sin(@)]2+cos(9)— 1=0)
No2 =

No]z{

3=(2 [cos(@)]2 —cos(0)=0) 4 =(sin(0)+ cos(0) :«/5)
S =(2tan(0) cos(0)=tan(0)) 6=(4 [sin(e)]3 —sin(0)=0)

N03:[.I:(2sin(6)+1:0) .2:(4[sin(6)]2—1:0)}
3=(sin(40)=0) 4=(sin(30)=1)
I=(2[cos(0)]+3cos(8)+1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
Nod = 3=(2[sin(0)]* +sin(0)=0) .4=(sin(9)—cos(9)=«/5)
5= (tan(0) cos(6) =tan(0)) .6:(4[sin(6)]3—3sin(e)zo)
N05{ 1 =(2sin(0)—1=0) .2=(4[cos(6)]2:1)}
3= (tan(0) cos(0)=cos(0)) .4=([tan(9)]2—3=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.13099

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’-3= 0)}

3=(sin(30)=0) 4=(cos(20)=1)
I =(2[sin(0)] +sin(0)=1=0) .2=(2[sin(0)]" +3 cos(6)=3=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4=(cos(6)—sin(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6=(4[sin(9)]3—sin(9)=0)
N03=[.]:(2cos(6)—1:0) .2:(4[sin(9)]2—1:0)}
3=(cos(30)=0) 4=(sin(20)=1)
I=(2[sin(0)] —sin(0)—1=0) .2=(2[cos(0)]°=3sin(6)-3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)+cos(6):«/5)
.5=(tan(0)sin(0)=sin(0)) 6=(4[cos(8)]’ —cos(8)=0)
No5:[ 1=(2sin(0)—1=0) .2=(4[sin(9)]2=3)}
J=(tan(0)sin(0)=tan(0)) .4=(3 [tan(@)]z— 1=0)

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKXKXKXKXKXKXKXKXKXKXKKX XXX KXXXXXXXKXKXXX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6300106-00023XX
TrigonometryExercise6 for No.13100

NoJ _[.1 =(2sin(0)—1=0) .2=(4[sin(0)-1= 0)}
L 3=(sin(20)=0) 4=(sin(30)=1)

d=(2 [sin(e)]z— 3sin(B)+1=0) .2=(2 [cos(e)]2+sin(9) -1=0)
No2=| .3=(2[cos(0)]* +cos(0)=0) .4:(sin(6)—cos(6):«/5)
5=(2tan(0)sin(0) =tan(8))  .6=(4[sin(0)] -3 sin(0)=0)
N03:[1 —(2cos(0)—1=0) .2=(4[cos(0)] -3 = 0)}
3=(sin(40)=0) 4=(cos(20)=1)

d=(2[cos(0)]*+3cos(0)+1=0) .2=(2[cos(0)]*—sin(8)—1=0)
Nod = 3=(2[sin(0)]* —sin(0)=0) .4=(cos(9)—sin(9)=«/5)
S =(tan(0) cos(0)=cos(0)) 6=(4 [cos(e)]3 —cos(0)=0)

_ . _ _ . 2
N05:[ 1=(25sin(8)+1=0) 2=(4[sin(0)]'=3) }

J3=(2tan(0)cos(B)=tan(B)) .4=(3 [tan(@)]2— 1=0)
O0:010:010:010:010.0/0:0.0:0.0:0.0.0.0.:0.0.0:010.00.0.0.0.0:0.0:0:0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0.0:0:0:0.0:0.0:0.0.:0.0.0.0.0.0:0:0'0:0:0¢
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TrigonometryExercise6 for No.13139

NoJ _{1 =(2cos(0)—1=0) .2=(4[cos(0)-3= 0)}
L .3=(sin(30)=0) 4=(sin(20)=1)

d=(2[cos(0)]*—cos(0)—=1=0) .2=(2[sin(0)]*+3 cos(6)-3=0)
No2=| .3=(2[sin(8)] +sin(6)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(6) cos(0)=tan(0)) .6=(4[cos(9)]3—3cos(6)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[sin(6)]2—3=0)}
3=(cos(20)=0) A4=(cos(30)=1)

d=(2 [cos(@)]2+ 3cos(B)+1=0) .2=(2 [sin(@)]z—cos(G)— 1=0)
Nod = 3=(2[sin(0)] - sin(0)=0) .4:(sin(6)—cos(6):«/5)

S =(tan(0) cos(0)=cos(0)) 6=(4 [cos(e)]3 —co0s(0)=0)

_ : 1 _ 2
N05:[ 1=(25sin(8)~1=0) .2—(4[cos(9)]—1)}

J3=(2tan(0)sin(0)=tan(0)) .4= ([tan(@)]2 -1=0)
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TrigonometryExercise6 for No.13411

NO]:[.I:(2sin(6)+1=O) .2=(4[cos(9)]2—3=0)}
3=(cos(40)=0) 4=(cos(20)=1)
I=(2[sin(0)] —sin(0)—1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
No2=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)+cos(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) 6=(4[sin(8)] —3sin(0)=0)
N03:[.I:(2sin(6)—1:0) .2:(4[sin(6)]2—1:0)}
3=(sin(20)=0) 4=(sin(30)=1)
d=(2[cos(0)]*+3cos(0)+1=0) .2=(2[cos(0)]*—sin(8)—1=0)
Nod=| .3=(2[cos(0)] —cos(0)=0) .4=(cos(9)—sin(9)=«/5)
J=(2tan(0)sin(0)=tan(0)) 6=(4[cos(0)]’ —cos(0)=0)
N05{ 1=(2cos(8)—1=0) .2:(4[sin(6)]2:3)}
3= (tan(0) sin(0)=tan(H)) .4=([tan(9)]2—1=0)
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